TECHSEM

MTC500 MTA500 MTK500 MTX500 MT500
Thyristor Modules

Features: ]
/ ] Isolated mounting base 3000V~ Vosw, Vs Voru, Vrru Type & Outiine
u Pressure contact technology wi.tr.1 900V SO0V MTx500-08-416F3
Increased pOV\.IeI' cycllrfg capability 1100V 1000V MTx500-10-416F3
] . Space ar.1d w?lght saving 1300V 1200V MTx500-12-416F3
Typical Appllcatlor.ls 1500V 1400V MTx500-14-416F3
u AC/DC Motor drives 1700V 1600V MTx500-16-416F3
- . -
k Various rectifiers 1900V 1800V MTx500-18-416F3
| DC supply for PWM inverter
VALUE
SYMBOL CHARACTERISTIC TEST CONDITIONS T;(°C) UNIT
Min Type Max
180° half sine wave 50Hz
lr(av) Mean on-state current Single side cooled, T,=85°C 125 500 A
It(rms) RMS on-state current 125 785 A
lorw Repetitive peak current at Vorw 125 35 mA
IRRM at VRRM
lrsm Surge on-state current 10ms half sine wave 14.5 KA
_ 125
1t IT for fusing coordination Vr=60%Vrru 1051 | A%*10°
V1o Threshold voltage 0.80 \
125
rr On-state slop resistance 0.34 mQ
Vim Peak on-state voltage ltm=1600A 25 1.54 \
dv/dt Critical rate of rise of off-state voltage |V pm=67%Vprm 125 1000 V/us
di/dt Critical rate of rise of on-state current Gate source 1'56. 125 200 Alus
t<0.5us Repetitive
let Gate trigger current 30 200 mA
Ver Gate trigger voltage Va=12V, [a=1A 25 1.0 3.0 \%
In Holding current 20 200 mA
Vep Non-trigger gate voltage Vom=67%Vprm 125 0.2 \%
Thermal resistance . . . o
Rihgc) Junction to case Single side cooled per chip 0.065 Cc/w
Thermal resistance . . . o
Rin(c-n) case to heatsink Single side cooled per chip 0.024 CcC /W
Viso Isolation voltage 50Hz,R.M.S,t=1min,liso: IMA(MAX) 3000 \Y
Thermal connection torque(M10) 12.0 N-m
Fm
Mounting torque(M6) 6.0 N-m
Tstg Stored temperature -40 125 °C
W; Weight 1430 g
Outline 416F3
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Surge Current Vs.Cycles
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Gate characteristic at 25°C junction temperature
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Gate Trigger Zone at varies temperature
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